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ECTION A (30 marks)

Answer all the questions in this section in the spaces provided :

1. Give two disadvantages of intensive system of farming. (1mk)
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2. List four methods of farmlng
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3 Give the meaning of the following terms:
a) nitrogen fixation into the soil; (Imk)
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b) phosphorus fixation in loss of soil fertility. (1mk)
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4. List four ways through which soil PH influences crop production.(2mks)
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B Outline four factors that affect the effectiveness of a pesticide.(2mks)
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6. Sate two reasons for land fragmentation in Kenya.

(1mk)
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7. Give four advantages of individual owner Operator tenure System as practiced in Kenya. (2mks)
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8. Sate four features that should be considered when choosi
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ng water pipes for use on the farm. (2mks)

9. Give four reasons for treating water for use on the farm.

(2mks)
-ﬁffmmcbmlm//mm%er .
=Jo. Kill...dieax Cagring paaro - pr s
A0 Nemere... Cedieons.” > Ol parpter.
.‘l
10. State four factors that determine the stage at which a crop is harvested. (2 marks)
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11. State two activities carried out during hardening off tomato seedlings. (Imk)
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12. lee two reasons for carrying out each of the followmg operations in land preparation:
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13. Give four benefits of practicing organic farming.(2mks)
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14. Name three vegetative parts that can be used to propagate pinapples. (11,2 marks)
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16, Name two classes of weeds on the basis of each of the following:
a) growth cycle;

(1mk)
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b) plant morphology - (1mk)
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SECTION B (20 marks)

Answer all the questions in this section in the spaces provided.

17.

Below is a diagram of a weed. Study the diagram carefully and answer the questions that
follow.

a)  Identify the weed illustrated above. (L2emk) |
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b) Why is the weed illustrated above difficult to control? (1mk)
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c) State %u; ways in which the weed can be controlled in a field of malze.
(kas)
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18. The diagram below shows a.pest and the damaged crop

. Study it and answer the
questions that follow.

a) Identify the crop pesf illustrated above. (1 mark)
U
b) Explain two ways of controlling the pests. (2 marks
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20. The diagram below illustrates a nursery practice.




21. The diagrams below illustrate field management practices. Study them carefully and answer the
questions that follow.
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a) Identify the field practices.

b) Name a crop that can be managed using management (M) above.(1mk)
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¢) Give one reason for carrying out each of the management practices above.(2mks)
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22.. A famer is advised to apply 60kg N, 20kg P20s and 30kg K20 per hectare
Calculate the quantity of urea (46%N), single super phosphate (20%P20s) and muriate
of potash (50% K20) the farmer should apply on his 10 hectares land. (5 mks)
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(b) Describe the procedure followed in carrying out the practice illustrated. (2
marks) ;
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(c) State two advantages of the practice illustrated above in crop production. (2 marks)
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b) State two ways in Wwhich pruning assists in controlling crop diseases. (1mk)
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